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Solved Question

1. Name the gas that can readily decolourise

acidified K MnQjy solution:


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_yLZVxrLVbOd2

A. SO,

B. NO,

C. P205

D.CO,

Answer: A

o Watch Video Solution

2. Mechanism of a hypothetical reaction
Xs 4+ Yy — 2XY is given below:
(i) X9 — X + X (fast)

(i) X + Yy & XY + Y (slow)


https://dl.doubtnut.com/l/_yLZVxrLVbOd2
https://dl.doubtnut.com/l/_LmHlu34GDhp4

(i) X +Y — XY (fast)

The overall order of the reaction will be :

A2

B.O

C.15

D. 1

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_LmHlu34GDhp4

3. The heating of phenyl-methyl ethers with HI

produces

A. iodobenzene

B. phenol

C.benzene

D. ethyl chlorides

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_hGQyB5lgAlVm

4. Which one is the most acidic compound?

(1) OH
A. Jv\
(2) OH
B. NO,
3) OH
OZN\©/NOZ
NO,
C.
(4) OH
CH,


https://dl.doubtnut.com/l/_Qr7QSSSyqVrg

Answer: C

° Watch Video Solution

5. The correct increasing order fo basic strength

for the following compound is:

() NH, ) NH, 1) NH,
NO, CH,
ATl <I<1II
B.IIl < II <1

CII<I<III


https://dl.doubtnut.com/l/_Qr7QSSSyqVrg
https://dl.doubtnut.com/l/_1kjTfQNTGbUl

D.II < IIT <1

Answer: C

o Watch Video Solution

6. The most suitable method of separation of a

mixture of ortho and para nitrophenol in the ratio

1:1is:

A. Chromatography

B. Crystallization

C. Steam distillation


https://dl.doubtnut.com/l/_1kjTfQNTGbUl
https://dl.doubtnut.com/l/_f62qeqX0HO9o

D. Sublimation

Answer: C

o Watch Video Solution

7. HgCly and I, both when dissolved in water
containing I ~ ions the pair of species formed is:

A Hqgl,, I~

B. Hgl; , I,

C. HgI2, Iz, I

D. HgIQ, .[2, I3_


https://dl.doubtnut.com/l/_f62qeqX0HO9o
https://dl.doubtnut.com/l/_8eDcQYX38mBn

Answer: B

o Watch Video Solution

8. Mixture of chloroxylenol and terpineol acts as :

A. antiseptic

B. antipyretic

C. antibiotic

D. analgesic

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_8eDcQYX38mBn
https://dl.doubtnut.com/l/_6mCZ0QOvYpBp

9. An example of a sigma bonded organometallic

compound is:

A. Grignard

B. Ferrocene

C. Cobaltocene

D. Ruthenocene

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_6mCZ0QOvYpBp
https://dl.doubtnut.com/l/_kiGec91a5NPF
https://dl.doubtnut.com/l/_xAackG3qnuvg

10. A first order reaction has a specific reaction rate
of 10 2sec . How much time will it take for 20g
of the reactant to reduce to 5g ?

A. 138.6 sec

B.346.5 sec

C.693.0 sec

D. 238.6 sec

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_xAackG3qnuvg

11. The emf of a Daniell cell at 298K is E;
Zn|ZnS04(0.01M)||CuSO4(1.0M)|Cu
When the concentration of ZNSO, is 1.0M and
that of CuSOy is 0.01M, the em f changed to Es.
What is the relationship between E; and E(2) ?

A E; < Ey

B.E; > E,

C.Ey, =0+# FE

D.E, = E,

Answer: B

I ° Watch Video Solution


https://dl.doubtnut.com/l/_c4gAnFVI5wGD

12. Which is the incorrect statement?

A.Density decrease in case of crystals with
schottky's defect

B. NaCI(s) is insulator,  silicon is
semiconductor, silver is conductor, quarts is
piezoelectric crystal

C. Frenkel defect is favoured in those inonic
compounds in which sizes of cations and

aninos are almost equal


https://dl.doubtnut.com/l/_c4gAnFVI5wGD
https://dl.doubtnut.com/l/_9AB9ZesFHUz7

D. FeOy9s has non stocihiometric metal

deficiency defect

Answer: C

o Watch Video Solution

13. If molarity of the dilute solutions is doubled ,the

value of molal depression constant(Kf)wiII be:

A. halved
B. tripled

C.unchanged


https://dl.doubtnut.com/l/_9AB9ZesFHUz7
https://dl.doubtnut.com/l/_jQuuJopSNUPY

D. doubled

Answer: C

o Watch Video Solution

14. Which of the following is dependent on

temperature?

A. Molarity

B. Mole fraction

C. Weight percentage

D. Molality


https://dl.doubtnut.com/l/_jQuuJopSNUPY
https://dl.doubtnut.com/l/_BPxJEDAk2KpE

Answer: A

° Watch Video Solution

15. Identify A and predict the type of reaction

OCH,4
NaNH,

>4
Br

A. and elimination, addition reaction

OCH,

NH,
Q)


https://dl.doubtnut.com/l/_BPxJEDAk2KpE
https://dl.doubtnut.com/l/_tG1FwXRYcntC

B. and cine substitution reaction

OCH,

Br
(03]

C. and cine substitution reaction

OCH;

(3)

D. and substitution reaction

OCH,

“Q
NH

2

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_tG1FwXRYcntC
https://dl.doubtnut.com/l/_kReRjMZoIayr

16. The correct order of stoichiometries of AgCT
formed when AgNOs in excess is treated with the

complex:

CoCI3. 6NH3, CoClIs. 5NH3, CoClI3. AN Hs

respectively is:

A.3AgCI, 1AgCI,2A9C1I

B.3AgCI,2AgCI, 1AgCI

C.2AgCI,3AgCI,1Ag9CI

D.1AgCI,3AgCI,2A9C1T

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_kReRjMZoIayr

17. Which of the following reactions is appropriate

for converting acetamide to methamine?

A. Hoffmann hypobromamide reaction

B. Stephens reaction

C. Gabriel phthalimide synthesis

D. Carbylamine reaction

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_kReRjMZoIayr
https://dl.doubtnut.com/l/_u9lUd5OkTWsO
https://dl.doubtnut.com/l/_TMCTwZ5V9Plt

18. In which pair of ions both the species contains
S — S bond?

A. S4O§, 5203_

B. 507, S20%~

C. 54027, $205~

D. S207 ", S202"

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_TMCTwZ5V9Plt

19. Correct increasing order for the wavelengths of

absorption in the visible region by the complexes

of Co® T is:

[Co(H,0),]° ™", [Co(en),]* ", [Co(NHy) ]

[CO(H20)6] ot : [CO(NHg)G] St : [C’o(en)3] ot

(Colem),)"", [Co(NH),),| ", [Co(H,0),] "


https://dl.doubtnut.com/l/_S5hbdoK9eUJg

Answer: D

° Watch Video Solution

20. Consider the reaction

Cu/573K . , [Ag(NH3),]"
X —> A4 —— OH A3)2l> Silver mirror
(C,H(O) , ~OHA observed
> Y

0
I

NH,—NH—C—NH,
VA

Identify A, X, Y and Z

A. A — Methoxymethane, X — Ethanol,

Y — Ethanoic, Z — semicarbazide


https://dl.doubtnut.com/l/_S5hbdoK9eUJg
https://dl.doubtnut.com/l/_s9ZjTugAUlbt

B. A — Ethanal, X — Ethanol

Y — But-2-enal,Z — Semicarbazone

C. A — Ethanol, X — Acetaldehyde

X — Butanone, Z — Hydrazone

D. A — Methoxymethane, X — Ethanoic acid

Y — Acetate ion, Z — Hydrazine

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_s9ZjTugAUlbt

21. Of the following which is the product formed

when cyclohexanone undergoes

condensation followed by heating?

o O
A.

B. OH

C (0] O
(6]
D. OH
Answer: A

aldol

o Watch Video Solution



https://dl.doubtnut.com/l/_07aPxRsE8uCr

22. Extraction of gold and silver involves leaching

with C'N ~ion.silver is later recovered by:

A. distillation

B. zone refining

C.displacement by Zn

D. liquation

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_07aPxRsE8uCr
https://dl.doubtnut.com/l/_Tu8GEhXDxj7Z
https://dl.doubtnut.com/l/_L491Q3lchxxC

23. Pick out the correct statement with respect to
[Mn(CN),]*":

A. It is sp>d? hybridised and tetrahedral

B. It is d®sp’ hybridised and octahedral

C. It is dsp” hybridised and square planar

D. It is sp>d? hybridised and octahdral

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_L491Q3lchxxC

24.The reason for greater range of oxidation state

in actinoids is attributed to:

A. actinoid contraction

B.5f,6d and 7s levels having comparable

energies

C.4f and 5d levels being close in energies

D. the radioactive nature of actinoids

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_RnVc1mQQNMPG
https://dl.doubtnut.com/l/_US71vUTNHSeV

25. Which fo the following is not correct?

A. Ovalbumin is a simple food reserve in egg-
white

B. Blood proteins thrombin and fibrinogen are
involved in blood clotting

C. Denaturation makes the proteins more active

D. Insulin maintains sugar level in the blood of a

human body

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_US71vUTNHSeV

26. Nitration of aniline in strong acidic medium

also gives m-nitroaniline because

A.In spite of substitution nitro group always

goes to only m-position

B. In electrophilic substitution reactions amino

group is meta directive

C.In absence of substiutents nitro group

always goes ot m-position.

D. In acidic (strong) medium aniline is present

as anilinum ion.


https://dl.doubtnut.com/l/_UErGvRnrllxe

Answer: D

° Watch Video Solution

27. The difference between amylose and

amylopectin is

A. Amylopectin have 1 — 4a- linkage and

1 — 6a-linkage

B. Amylose have 1 — 4a-linkage and 1 — 65-

linkage


https://dl.doubtnut.com/l/_UErGvRnrllxe
https://dl.doubtnut.com/l/_xYZqx2UzFdAe

C. Amylopectin have 1 — 4a- linkage and

1 — 68-linkage

D. Amylose in made up of glucose and galactose

Answer: A

° Watch Video Solution

28. Regarding cross-linked or network polymers,

which of the following statements is incorrect?

A. They contain covalent bonds between various

linear polymer chains.


https://dl.doubtnut.com/l/_xYZqx2UzFdAe
https://dl.doubtnut.com/l/_ST73xQAQWaXI

B. They are formed from bi- and tri - functional

monomers.

C. Examples are bakelite and melamine.

D. They contain strong covalent bonds in their

polymer chains.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_ST73xQAQWaXI

29. In the reaction

H O-N'd+

CHO
+ CHCl; + NaOH —>

electrophile involved is

the

e
A. dichloromethyl cation CHCl,
e
B. formyl cation CHO
e
C. dichloromethyl anion CHCl,

D. dichlorocarbene (: CCly)

Answer: D

| ° Wiat~hh \tAaA CAaliikian



https://dl.doubtnut.com/l/_h6W21TAWycWi

L YVOULAITL VINGY JVIVIGIVIE )

30. Carboxylic acid have higher boiling points than
aldehydes, ketones and even alcohol of comparable
molecular mass. It is due to their

A. formation of intramolecular H - bonding

B. formation of carboxylate ion

C. more extensive association of carboxylic acid

via vander waals force of attraction.

D. formation of intermolecular H - bonding

Answer: D



https://dl.doubtnut.com/l/_h6W21TAWycWi
https://dl.doubtnut.com/l/_POsR7kFtg8bY

| @ Watch Video Solution

31. Compound A, CsH;y0, is found to react with

NaOl (produced by reacting Y with NaOH) and
yields a yellow precipitate with characteristic smell.

A and Y are respectively

A ) H_‘cO—CHZ—OHandI
.

?2) QCHz_CHz_OH and I,
B.

3) @—cn—ct—i‘and I,
: jand I
C.

OH

CHy
) CH3OOH and 1
D.

Answer: C



https://dl.doubtnut.com/l/_POsR7kFtg8bY
https://dl.doubtnut.com/l/_vQ8GhWTDw2kY

I o Watch Video Solution

32. The correct difference between first-and
second-order reactions is that

A.The rate of a first-order reaction does not

depent on reactant concentrations' the rate

of a second-order reaction does depend on
reactant concentrations

B. The half-life ona first-order reaction does not

depend on [A],, the halflife of a second-

order reaction does depend on [4],


https://dl.doubtnut.com/l/_vQ8GhWTDw2kY
https://dl.doubtnut.com/l/_KDrFSvNW7UWp

C.A first-order reaction can be catalyzed, a

second-order reaction cannot be catalyzed

D. The rate of first-order reaction does depend

on reactant concentrations, the rate of a

second-order reaction does not depend on

reactant concentrations

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_KDrFSvNW7UWp

33. Iron exhibits b structure at roomj temperature.
Above 9000° C, it transformers to f structure. The
ratio of density of iron at room temperature to
that at 900° C' (assuming molar mass and atomic

radii of iron remains constant with temperature) is

Answer: C

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_kU1dYm9Oub6a

34. Which of the following statements is not ture

for halogens?

A. All form monobasic oxyacids.

B. All are oxidizing agents.

C.All but fluorine show positive oxidation

states

D. Chlorine has the highest electron-gain

enthaply

Answer: A



https://dl.doubtnut.com/l/_kU1dYm9Oub6a
https://dl.doubtnut.com/l/_sWDDBBQCrRKl

| o Watch Video Solution

35. Considering Ellingham diagram, which of the

following metals can be used to reduce alumina?

A Fe

B.Zn

C. Mg

D.Cu

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_sWDDBBQCrRKl
https://dl.doubtnut.com/l/_Uo2YJMGtZYE3

36. Which ordering of compound is according to
the decreasing order of the oxidation state of
nitrogen?

A.HNOs;, NO, Ny, NH,CI

B.HNO3, NO, NH,CI, N,

C.HNO;, NH,CI, NO, N,

D. NH,Cl, Ny, NO, HNO;

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_6PeDwhAyqkRH
https://dl.doubtnut.com/l/_bRrk1EhrBibE

37. On which of the following properties does the

coagulating power of an ion depend?

A.The magnitude of the charge on the ion

alone.

B. Size of the ion alone.

C. Both magnitude and sign of the charge on

the ion

D. The sign of charge on the ion alone

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_bRrk1EhrBibE
https://dl.doubtnut.com/l/_80RmbIUyIOT2

38. When initial concentration of the reactant is

doubled, the half-life period of a zero order

reaction

A. is halved

B. is doubled

C.is tripled

D. remains unchanged

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_80RmbIUyIOT2
https://dl.doubtnut.com/l/_hJ4uzfzcepsg

39. Which of the following compounds can form a

zwitterion?

A. Aniline

B. Acetanilide

C. Benzoic acid

D. Glycine

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_hJ4uzfzcepsg

40. The type of isomersim shown by the complex
|CoCly(en),| is

A. Geometrical isomerism

B. Coordination isomerism

C. lonization isomerism

D. Linkage isomerism

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_qybqBJGGqdG1

41. Which of the following ions exhibits d-d
transitions and paramagnetism as well?
A CT‘OZ_
9 _
B.C’I"207
C. MnO,

D. MnOZ_

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_vrA9Ye7FqYTn

42. The geometry and magnetic behaviour of the
complex [Ni(CO),] are
A. square planar geometry and diamagnetic
B. tetraheral geometry and diamgnetic
C.square planer geometry and paramagnetic

D. tetrahedral geometry and paramagnetic

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Mr76nT4MmVav

43. Iron carbonyl, Fe(CO)y is

A. tetranuclear
B. mononuclear
C. trinuclear

D. dinuclear

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_PCPHIfwP6XTW

44, A mixture of 2.3 g formic acid and 4.5 g oxalic

acid is treated with conc. Hy50,. The evolved

gaseous mixture is passed through KOH pellets.

Weight (in g) of the remaining product at STP will

be

A 14

B.3.0

C.28

D.44

Answer: C

I ° Watch Video Solution


https://dl.doubtnut.com/l/_1Bv02mou22cF

45, Consider the change in oxidation state of
Bromine corredponding to different emf values as

shown in the diagram below :

BrO, ~**> BrO; ———> HBrO

Br < Br,<

1.0652 V 1595V

The the species undergoing dispropprtionation is .

A. BrOg
B. BrO,

C. Bro


https://dl.doubtnut.com/l/_1Bv02mou22cF
https://dl.doubtnut.com/l/_1jdHjSSOZmlG

D. HBrO

Answer: D

o Watch Video Solution

46. The number of lone pairs of electrons present

on the central atom of CIFj is

A. one

B. two

C. four

D. three


https://dl.doubtnut.com/l/_1jdHjSSOZmlG
https://dl.doubtnut.com/l/_FQdLwheb8lVZ

Answer: B

° Watch Video Solution

47. The compound A on treatment with Na gives

B, and with PCl; gives C. B and C react together

to give di Ethyl ether. A, B and C are in the order

A. 02H5OH, C2H6, 02H5Cl

B. C2H5OH, 02H5Cl, C2H5ONG,

C. 02H5Cl, CQHG, 02H5OH

D. CgH{,OH, 02H50Na, 02H5Cl


https://dl.doubtnut.com/l/_FQdLwheb8lVZ
https://dl.doubtnut.com/l/_Q9AHHn3R5AwE

Answer: D

° Watch Video Solution

48. The compound C;Hg undergoes the following

reactions

3CL/ A Bry | Fe Zn/HCI
C,Hg > A >y B——

The product 'C'is .

A. m - bromotoluene

B. o - bromotoluene

C. 3-bromo - 2, 4,6- trichlorotoluene

D. p-bromotoluene


https://dl.doubtnut.com/l/_Q9AHHn3R5AwE
https://dl.doubtnut.com/l/_OkbrS5Y6a77v

Answer: A

° Watch Video Solution

49, For the redox reaction
MnO; + C,0?” + H® — Mn?* + CO, + H,O
the correct coefficients of the reactions for the

balanced reaction are

\ MnO; CyO;~ H*

16 5 2
5 MnO; C,0; H*
2 5 16
¢ MnO; C,0,~ HT
2 16 5

o MnO, C,0,~ H*
5 16 2


https://dl.doubtnut.com/l/_OkbrS5Y6a77v
https://dl.doubtnut.com/l/_CL8UY3dyFgzJ

Answer: B

o Watch Video Solution

50. Identify the major product P, Q and R in the

following sequence of reactions:

Anhydrous
# CHyCH,CH,Cl—=> pi () + R
P 0 R

CH,CH,CH;
A [ © © cccccc —OH
.
CH,CH,CH; CHO co


https://dl.doubtnut.com/l/_CL8UY3dyFgzJ
https://dl.doubtnut.com/l/_kF9spShVlPvH

Answer: D

o Watch Video Solution

51. Which oxide of nitrogen is not a common

pollutant introduced into the atmosphere both

due to natural and human activity?

A. N,O:

B. NO,

C. N,O


https://dl.doubtnut.com/l/_kF9spShVlPvH
https://dl.doubtnut.com/l/_G5md0M8SLaXS

D. NO

Answer: A::C

° Watch Video Solution



https://dl.doubtnut.com/l/_G5md0M8SLaXS

